GQUARE J°

CLASS 9422, TYPE TEB 1 and TEBL 1
BRACKET MOUNTED

Instruction Shéeet
30072-009-61
July, 1976

FLANGE OPERATED 100 AMPERE DISCONNECT SWITCH

For Right or Left Hand Operation

GENERAL INFORMATION

This kit contains a 100 amp. bracket mounted disconnect switch with operating mechanism and operating handle.

ENCLOSURE CONSTRUCTION

Construct enclosure maintaining minimum dimensions shown in Figure 1
or Figure 2 depending on your Type No.

ADJUSTMENTS

Disconnect switch Operating Mechanisms require no adjustment for proper
operation.

INSTALLATION OF DISCONNECT SWITCH
1. Mounting

Weld or rivet Interlock Blade Mounting Brackeét to enclosure door.
(See Figure 2.) Attach Blade to Bracket with (2) 8-32 x 5/16 screws.

Drill four holes in flange necessary togmount device. Cut out operator
handle opening in enclosuregflange. Mount Disconnect Switch to flange
with (2) 1/4-20 x 3/8 screws from outside of flange. Place Trimplate
over operator handle and attachito flange with (2) 8-32 x 1/2 screws
from inside of flange (Figuref3).

THE INFORMATION BELOW IS FOR THE TYPE TEB 1, AND TEBL 1

LEFT HAND MTD.

RIGHT HAND MTD.

TYPE TEBL 1 TYPE TEB 1
\ \ N
% 277 Z %‘l ‘l' L7777 77 7 777 {
7" Min
\
1]
1
1
1
1
&
oN
i
ofF|| I
7
{2) 3/8 Dia. Holes (For Back

Panel Support if Necessary)
25/32 + 83%

0%

N~
(2):3/8 Dia.Holes (For Back
Panel'Support if Necessary)

83%

-—25/32

Enclosure

10%

Figure)l

RERLACEMENT/PARTS LIST

QUANTITY
PART TYPE
ITEM DESCRIPTION NUMBER TEB1 | TEBL 1

1 Disc. Sw. Unfused .. . . . . . 31055-439-50 1 -
2 Disc. Sw. Unfused . . . . .. . 31055-439-53 - 1
3 Rod Assembly . . . ... ... 31055-162-53 1 1
4 Rod Assembly,. . . . . . ... 31055-162-51 1 1
5 Stiffener Coupling . . .. ... 31055-168-01 1 1
6 Cotter Pin, 1/8 x 1-1/4 . . . . | 24201-08400 2 2
7 Nut, 8/8-16 . . .. ...... 23002-00240 1 1
8 8. Au,1/4-20x3/8 . . . . ... 21916-20120 4 4
9 Interloek Kit . . . . ... ... 31055-283-61 1 1
10 Gasket . . .. ... ... 31055-280-01 1 1
11 Trimplate . . ......... 31055-281-03 1 1
12 Handle . ............ 31055-176-51 1 1
13 S.A. 8-32x1/2 ........ 21601-14160 2 2
1 S.A. 1/4-20x3/8 . ... ... 21926-20120 2 2

Items 1 and 2 include items 3 thru 14

®
i

SA.8-32x 1/2

7
\ ﬁ Handle Mounting

Screw
SA. 1/4-20 x 3/8 @

Trim Plate and Mounting Parts
Figure 3

Vertical ¢
of Handle Assy.

(2} %,
Dia. Holes

0(21 e \fl""’l\
ia. Holes .__| ™ {
Sl

Mtg. Brkt. may

be welded to 310

inside of cover B N

or riveted, if | ‘ “ ' P”m
rveted (2) .203

Dia. Holes 67,

i
are required [ te

% “he Min. 14 Max. uy } |
Min. Flange Thickness - - }/

Door |

- % Min. 1‘* o1y

1%

Max.

Locking Lever -—m 2
Extension Handle Cutout T

Intertock Bladel

Drilling for Interiock Parts
Figure 2

SQUARE T) COMPANY

MILWAUKEE, WISCONSIN






v'»v'-ﬁ". ,‘,v LT —— - - - e < - s A LT e Y —
5 QURRE D° Instruction Sheet
30072-009-62
CLASS 9422, TYPE TEB 2, TEB 3, TEBL 2 and TEBL 3 14T
BRACKET MOUNTED v
For Right or Left Hand Operation
GENERAL INFORMATION
This kit contains a 100 amp, bracket mounted disconnect switch with operating mechanism and operating handle.
ENCLOSURE CONSTRUCTION INSTALLATION OF DISCONNECT SWITCH
Construct enclosure maintaining minimum dimensions shown in Figure 1 1. Mounting
or Figure 2 depending on your Type No. Weld or rivet Interlock Blade Mounting Brackét to enclosure door,
ADJUSTMENTS (See Figure 2.) Attach Blade to Bracket with (2) 8-32 x 5/16 screws.
i Drill four holes in flange necessary to mount device. Cut out operator
Di t Switch ting Mechani i djustment f; g Yy . P
op:;:;)?i?;c witch Operating Mechanisms require no adjustment forproper handle opening in enclosure /flange. Mount Disconnect Switch to flange
. with (2) 1/4-20 x 3/8 screws from outside of flange. Place Trimplate
over operator handle and attachito fldfige with (2) 8-32 x 1/2 screws
from inside of flange (Figureg).
THE INFORMATION BELOW IS FOR THE TYPE TEB 2, AND TEBL 2
LEFT HAND MTD. RIGHT HAND MTD.
TYPE TEBL 2 . X TYPE TEB2 ! RIGHT OR LEFT HAND MTD.
h 77 77 ) ! 7 7 1
T a| Ly 1 7
3/8 3% Min
1&2
7" Min. | #
|
I
g 2 [ [ _%a)
1 n N I—
1IN G
ﬂ- © @ @
o ~
@ 13 % o o o
ol 14 Y
/Clas ''J"/100A600V
CHPLe—+ -
N /Clas H*100A 250V
|
|
| b A
! —] —
! Class “H"’ 100A 600V A RUClass " T00A 800
N
{2) 3/8 Dia. Holes (For Back (2) 3/8 Dia. Holes (For Back Enclosure
Panel Support if Necessary) Panel Support if Necessary)
25/32 9% 9% — 25/32
10% 10%
Eigure 1
FUSE LOCATION e i
mt\Handle Mounting
TYPE MAX. VOLTAGE FUSE TYPE | USE MTG. HOLES SA.832x1/2 Screw @
SA. 1/4-20 x 3/8
TEB 2 & TEBL 2 100A. 250V. CLASS H B
TEB 2 & TEBL 2 100A. 600V4 CLASS H A @
TEB 2 & TEBL 2 100A%, 600V, CLASS J C
Trim Plate and Mounting Parts
REPLACEMENT PARTS LIST Figure 3
QUANTITY @2
PART TYPE % ;%
ITEM DESCRIPTION NUMBER TEB2 TEBL2 2%, =T
Dra. Holes I
1 | Disc. Sw. Fusible . . . . . .. 31055-441-50 | 1 - @ i
2 | Disc. Sw. Fusible . ... ... 31055-441-53 - 1 Dia. Holes :é *}
3 Fuge Base .. ......... 31055-429-50 1 1 'r
4 | RodAssembly . ........ 31055-162-53 1 1 Mtg. Brkt. may T
5 |@Rod Assembly . . . ... ... | 31055-162-51 1 1 Door Jeweldedto 3
6 | Stifferier Coupling . ... ... 31055-168-01 1 1 Yo Min, |- Yo 1% o reted, It
Ay Cotter Pin, 1/8 x 1-1/4 . . . . |24201-08400 2 2 o 'Q’% o o |
8) | Nut,)3/8-16 . ......... 23002-00240 1 1 Interlock Blade ' S1%r—r% Yo Min. 1o Max. are required g |
9 A. 1/4-20 x3/8 . ... ... 21916-20120 6 6 Jr— Min. Flange Thickness L
10, \Interlock Kit . . . ... .... 31055-283-61 1 1 , °
1 “|Gasket . ............ 31055-280-01 1 1 Locking Lever  yy5n4ie Cutout R Max. v, 9
12), | Trimplate . .......... 31055-281-03 1 1 Extension M
13 Handle .. ........... 31055-176-51 1 1 1%
14 [S.A.832x1/2 ........ 21601-14160 2 2 *
15 S.A. 1/4-20 x3/8 . . .. ... 21926-20120 2 2 Drilling for Interlock Parts

Items 1 and 2 includes items 3 thru 15

SQUARE [) COMPANY

Figure 2

MILWAUKEE. WISCONSIN

page 1 of 2



THE INFORMATION BELOW IS FOR THE
TYPE TEB3 AND TEBL3
SEE PAGE 1 FOR INSTALLATION AND ADJUSTMENT INFORMATION.

LEFT HAND RIGHT HAND
MTD. TYPE TEBL 3 MTD. TYPE TEB 3 RIGHT OR LEFT/HAND MTD.
lll Z Z Z Z 41 b Z Z \:
X K s 1
3/8 3% Min.
7 Min l
17%
18%
-
|
() I kM
|
|
I
I
A
I
|
i
i
s
(2) 3/8 Dia. Holes {For back”
Panel Support if Necessary) he
25/32 e '
25/32-+] 1% 1% -—
12'%% 12'%6 Enclosure
Trim @ %
Plate andle
Figure 1
Gasket
@ L=~ 7
m\ Handle Mounting
SA.8-32x 1/2 Screw @
SA. 1/4-20 x 3/8
REPLACEMENT PARTSIST Trim Plate and Mounting Parts
Figure 3
QUANTITY
PART TYPE ‘-“E
ITEM DESCRIPTION NUMBER TEB3 | TEBL3 B
]
1 | Disc. sw. . . . 0L 0L 31055-444-50 1 - @, =2
2 | Disc. Sw. 4. . . o . 31055-445-50 - 1 Dia. Holes e
3 Fuse Base/ . . . . 0. . . . . 31055-428-50 1 1 @ . 2
4 | Rod Assefubly 4. . . W% . .. 31055-162-53 1 1 Dia. Holes | %}
5 Rod Asgemblyd. . . 4. . . .. 31055-162-51 1 1 - -
6 Stiffener Coupling £. . . ... 31055-168-01 1 1 Mtg. Brkt. may
7 | Cotter Pin, 1/8x 151/4 . . . . | 24201-08400 2 2 e wededte 3%
8 Nut, 3/8-16 .00 . ...... 23002-00240 1 1 or riveted, if
9 | IterlockKit . .. ....... 31055-283-61 1 1 viveted (2) 203
10 Gasket . ... ... 000 31055-280-01 1 1 are required i
11 Trimplate .. . .. ... .. .. 31055-281-03 1 1 5
12 Handle . <0, ... ....... 31055-176-51 1 1 v
13 (8.A.832x1/2 ........ 21601-14160 2 2 % R Max. b o
14 S0A. 1/4-20 x3/8 . . .. ... 21926-20120 2 2 -~ o
Items 1 and 2 include items 3 thru 14 e
Door l
L t 3% Min. ‘[‘%o’ 1l/l
Intetlock Blade | = 1% % & Y% Min. 14 Max.
glﬁafgp Min. Flange Thickness
Loérl.::s;:‘ve, Handle Cutout

Drilling for Interlock Parts

Figure 2
SQUARRE T) COMPANY

30072-009-62

MILWAUKEE, WISCONSIN

page 2 of 2

B





